THEE-2BRE-6BE-AFENY 20215 A 1B RAE
202145 /& AR SEAH SHEH ZEREH ARER AZFEH
L2 % 5 z = 5 T
REERSFS ERREFEY (ReTER 25 58 23 81 57 23 80 24 15 39 24 9 33
ERIEBEER 25 70 20 90 67 20 87 18 12 30 7 4 11
—f%#iR 20 26 12 38 22 11 33 12 9 21 7 4 11
FrLoU AR E5T4 13 13 26 13 13 26 0 6 6 0 5 5
TEERHERE ET4 1 8 19 11 8 19 1 8 19 11 8 19
= AAR T4 0 0 0 0 0 0 0 0 0 0 0 0
a&t 70 178 76 254 170 75 245 65 50 115 49 30 79
EERRZZFEY (HRETREK 10 10 5 15 10 5 15 7 4 11 7 3 10
FRIEBEER 10 16 7 23 15 7 22 1 7 18 6 1 7
—h&:E R 10 5 1 6 4 1 5 2 1 3 0 0 0
FrLoP AR T4 3 2 5 3 2 5 0 2 2 0 2 2
TEERER ET4 3 0 3 3 0 3 3 0 3 3 0 3
HE AAS T4 0 1 1 0 1 1 0 1 1 0 0 0
aFt 30 37 16 53 35 16 51 23 15 38 16 6 22
EEREERH — AR AR 40 6 23 29 6 22 28 3 22 25 3 20 23
aFt 40 6 23 29 6 22 28 3 22 25 3 20 23
REERFHRER —RE AR 6 3 0 3 3 0 3 3 0 3 3 0 3
REME 146 224 115 339 214 113 327 94 87 181 71 56 127




